20110 110 90 (20110 110 16000)
ooogoo
kotaro@math.titech.ac.jp

oOoo0oboo BOOODO 6

gogoboobod

e J00OO B060000O00O 3000
hn+1
(n+1)!

1
(n+1)!

Rpya(h) = f7" P a+0n) = Ran(h) = £ (a + 0n)



0000000 BOOOO 6 2

6 Doooooo 2
» J0000000000000000 000000000000

00 6.1. 00 f0e0O0OD0O0O0OO IO (n+1)000000000e+helI 000 AODOODO

(61)  fla+h) = (@) + F@h+ g/ @ 4+ - FO@R" + Rusa(h)

n hn+1

| =

FD(a)W + Roi1(h),  Rnpa(h) = FOD (a1 ), 0<f<1

! (n+1)!

.

=0

0000 000000 ODOOOOODOO

00000051 000000000000000 (RolleO0D0)000000DDOOOOODOOODOOOO
00000 (bOo0oO0b0)0oLDOooOOoooooOoo

00 6.2 (00000007). 00 f0 000000 I0C-00000e+hel000 ADOO0O

(62) flath)= fla) + f'(@)h+ 57" @h* + 4 L FO @R+ Roa(h)

. . hn+1 1
PO + Rusa(h), Runa () =" [ (1= ) 07 (a+ ) d
0

2| =

! n!

.

Jj=0

gobooboooo
hn+1

(n+1)!

Rpi1(h) = fOt(a+0n), 0<0<1

0000 000000 ODOOOOODOO

000 x=e¢+h0000000000000COC000O0O0ODOOOOOOOO
1@ f@ = [ roa=["¢-orwa
—[-or) - [a-arna=@e-o- [ (o-0°) o

mxfoAI%@fxffﬁﬁhz+/f(é@fxfyfmwdt:n

=f B
:(g:;f“mn@—aﬁ)+W:yn[f@—mwa“Mwﬁ.

0000¢t=(1—-we+uwz 0000000000000

R = / "y e @y ar = B0

n! n!

/1(1 - u)”f(”+1)((1 —u)a + uz) du

000000000000000000000 f™*Y 0000 [a,a+h] (000 [a+h,e) 000000000
000000 M,000 mO000000000S8(h):=n'Rayi(h)/A" 0000

M sz

S(h):/o (1—u)"f(”+1)((1—u)a+ux) dﬂc§/0 (1 —w)"Mdu= ——

3
+
—_

20110 110 90 (20110 110 16000)



oooooooBOOOOG6 3

0000000000 (0,1 0
F(0) := f" ™ (a+6h) — (n+1)S(h)

000000000oo0ooooooooDooDooDo0o0000oon F)=0000 6e(0,1) 0000000
0eO00O0OUOOODO

00 6.3 (00000007). 00 f()0 «0000000 C*H-0000000000

(6.3) ﬂa+m=f®HJW@h+~+%ﬁmmmﬁ+Rwﬂm 0000 fim B _ g

h—0 h™

gooogo

R 0000000000000
00.0 «00000000 20000 |f(z)|SClg(x)] 00000000 COO0O0OOOO
f@)=0(9(z))  (z—a)

goboogoboo

ooo Eﬁﬁg 0ooooooo f(@)=0(g(x)) (r — a).
o f(z)
ilg}lm =0 ooo f(@) = o(g(x)) (x = a)

0oodud O,o000000000C0OO

0 64. 0000000 6300000000000DODOO0ODODOO

Flat h)= f(@)+ F(@h+ -+ O @+ o).

mJ000gg

e [00D000O0] f(z)0 « 0000000000000 00000000000000(6.3) 0 Ru(h)
0000000000000 AOD0OO lim R,(h)=0000000000
n—oo

7 (a)i

(6.4) flat )= fla) + flalh+ g /(@ 4 =3

S
I

0

0000000 f(x) 0 =e00000000000000O0

e J000e¢=0000000000000000000000O

eJJ00OD0O0OO0DOOODDOOODOODDLODOOOODDO

0000000000 fle+h) 0D AOOODODDOOOOODOOOOODOOOOOOOOOOOOOOO
000000000000 f(e+h)000000000DO0OOODODOOOOO

e JI0OOOOOOOOODOOOODOOOOOOOODOOOODOOOOOOOOOOOODOOOO
cooboooooboooooooooooooobooboooon



0000000 BOOOO 6 4

0 6.5. 1 1 1
ez:1+x+§x2+§x3+-~zr§mxn (—o0 <z <oo)
cosz:l—lx2+lx4+~-':i(71)nx2" (—oo<z<00)

2! 4! o (2n)!

1 — (-1
sinr =z — 2%+ —a® 4+ ... = Q:r?"*l

3! 5! — (2n+1)!
1J1HE:1—95+:102—:B3+~--:§(—1)"$” (-1<z<1)
log(1+x):x—;x2+;x3+~--=§(_;)nas” (-1l<z<1)
tan11:—33—;x3+;$5+~~-—§éni}ix2”“ (=12z=1)
(1+:ﬂ)0‘—1+(?>x+<§)x2+-~—§;<z>x" (-l<z<l)

gboboobogoo

a\ ala—1)...(a—n+1)
n n!
gboboooooooooooooboobobtde bbb ob0ob0b0 . ODODODODOD
gboboobooboboooboobooooboo

gd

6-1 00000000

sinz = O(z) (z — 0).

e* =14z +o(x) (x—0).

e o 00O0DDOODO (142)*=1+ax+o(x) (z — 0).
e cosz —1=0(z?) (z — 0).

6-2 0000000000 OO0O0O0O00DOO0OO0OO
e —1—=x

e lim
x—0 1’2
2cosz — 2+ x?

x—0 ,’L‘3

3tanx — 3z — z°

x—0 xd

. 2log(1+ ) — 2z + 2
e lim .

x—0 :E3
sinx —tanx

e [1m
x—0 (E?’

6-3 000000000000000 @, 000000000

—1

tan™ & — asinx + bx

lim
x—0 1’5



